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QUESTION 1

Which two CVM components are used to provide data locality? (Choose two.) 

A. Logical Unit 

B. Unified Cache 

C. Extent Store 

D. Volume Group 

Correct Answer: BC 

 

QUESTION 2

Which option allows administrators to specify groups of VMs and assign them to a destination for Disaster Recovery
using Leap? 

A. Security Policies 

B. Protection Policies 

C. Recovery Plans 

D. Availability Zones 

Correct Answer: D 

 

QUESTION 3

An administrator has planned a RAM upgrade on a 3-node Nutanix cluster. Which step should be performed first for a
non-disruptive memory upgrade? 

A. Stop one CVM at time 

B. RunNCC 

C. Power off one host at time 

D. Live Migrate VMs 

Correct Answer: B 

 

QUESTION 4

What is the minimum RPO supported for a single-node or two-node cluster? 

A. 15 minutes 
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B. 6 hours 

C. 5 hours 

D. 1 hour 

Correct Answer: B 

 

QUESTION 5

An administrator needs to provide data integrity at the application level for a VM that is replicated to a secondary site.
Which requirement will satisfy this task? 

A. 1 VM per Consistency Group 

B. 1 VM per Availability Zone 

C. 1 VM per Protection Domain 

D. 1 VM per Schedule 

Correct Answer: D 

NCA-5.15 VCE Dumps NCA-5.15 Practice Test NCA-5.15 Exam Questions

Powered by TCPDF (www.tcpdf.org)

NCA-5.15 VCE Dumps | NCA-5.15 Practice Test | NCA-5.15 Exam Questions                                3 / 3

https://www.passapply.com/nca-5-15.html
https://www.passapply.com/nca-5-15.html
https://www.passapply.com/nca-5-15.html
http://www.tcpdf.org
https://www.passapply.com/nca-5-15.html
https://www.passapply.com/nca-5-15.html
https://www.passapply.com/nca-5-15.html

